2022 - MR SIX DAYS 300CC USA (FRONT FORK)

CENTRAL POWERSPORTS

H
H
' '
oy ! H
g " i ;
= b b i il - H
= :
» I3 1
m e 4 8 ! 1 H
] 8 [
- ¥
w, ‘% i :
!
- [ It . E " o o E
e J A i =l Ll
u 10 H et
! H
! 17k ! = H
2% 1 i -
i 2
= L | AP IR |
{ =N == 3 =
L - o _—
e H'\--\-"‘—\. [ —
"-\‘. T — o —
= i ;
" 3
1
% - Tk
-y 1 15 -
ol = a KYB
e g
L : 8
Fe e
- i
il
o ' | 3
= L1
=] = Fad e a
- L]
e %
5 e
M
|
B @ il
kg |
7 Py Lt p i
o g |

RJ-COMPLETE MR PRO SUSPENSION

1
0/K00.130.9101 (u. 1)

) SCREW ESP. 8x25 : T0228025
0/000.460.9137 (u. 4)

s RJ-FORK PROTECTOR SET {GASGAS EC/XC 18—, RIEJU MR 21—} (WHITE)
0/000.220.9144 (u. 1)
TT-TORNILLO ESPECIAL ROSCA PLASTI
T0806023 (u. 2)

4
SPECIAL SCREW THREAD PLASTIC HEXAGON CABOT WITH WASHER 6x20
T0806020 (u. 2)

5 SCREW ESP.6X8 PLASTIC : T0806008
0/000.460.9162 (u. 6)

6 RJ-MR STEERING SHAFT NUT : $220730 : BE25610030
0/000.340.9102 (u. 1)

o RJ-TRIPLE CLAMP ASSEMBLY {RIEJU MR PRO 21->}
0/000.660.9107 (u. 1)

0 RJ-MR LOWER STEERING SHAFT NUT : $220720 : BE25610029
0/000.340.9101 (u. 1)

10 RJ-MR BEARING DUST COVER (BLACK) (STD. 2019) : BE24005GG-CSK-1
0/000.200.9100 (u. 1)

1 RJ-MR STEERING WASHER (2018-2019) : $220715 : BE25610028
0/000.440.9101 (u. 1)

12 RJ-MR STEERING BEARING (2018-2018) : C140700 : BE25610008
0/000.960.9101 (u. 1)

13 RJ-MR STEERING BEARING (2018-2019) : BE250610008
0/000.960.9100 (u. 1)

14 RJ-MR STEERING O-RING (2018-2019) : C300700, C300701 : BE25610012
0/000.490.9102 (u. 1)

15 RJ-MR STEERING CAP (2018-2019) : BE250610026

0/000.200.9101 (u. 1)

Central Powersports Distribution - Last modification: 26/04/2022



2022 - MR SIX DAYS 300CC USA (FRONT FORK)

17

18

19

20

22

23

24

25

26

27

28

29

30

32

33

34

RJ-MR STEERING AXLE (2018-2019) : BE24000GG-CLJ-1
0/000.190.9100 (u. 1)

SPECIAL BOLT 8x40 : T0228040
0/000.460.9140 (u. 4)

RJ-UPPER/LOWER HANDLEBAR CLAMP SET {GASGAS GP/6D 18-19, RIEJU MR 6D 22->} (BLACK)

0/K00.350.9102 (u. 1)

SPECIAL BOLT 10x45 : T0201045
0/000.460.9113 (u. 2)

RJ-FLANGE NUT DIN 6926 M10 : T3110003, 0/000.340.9124
0/000.340.0182 (u. 2)

OBSOLETE : 0/000.340.0182 : FLANGE NUT M10-1.50 : T31100030BSOLETE
0/000.340.9124 (u. 2)

(ENDURO) ADDRESS BLOCK KIT (2018-2019)
BE15025CT-CLJ-1 (u. 1)

RJ-MR MULTIFUNCIN "EVEREST" SET (2018-2019) : EE60000CT-CLJ-1
0/001.000.9100 (u. 1)

RJ-RADIATOR BUSHING : BT700903013
0/000.480.9116 (u. 2)

RJ-RUBBER GROMMET : BE25632003, G220000, 0/000.360.9112
0/000.360.4002 (u. 2)

RJ-RUBBER GROMMET : BE25632003, G220000, 0/000.360.9112
0/000.360.4002 (u. 2)

RJ-RUBBER GROMMET : BE25632003, G220000, 0/000.360.9112
0/000.360.4002 (u. 2)

OBSOLETE : 0/000.360.4002 : RUBBER GROMMET : BE25632003, G2200000BSOLETE
0/000.360.9112 (u. 2)

RJ-FRONT FORK MULTI-FUNCTION BRACKET {GASGAS EC/XC 18-19} : EE65000GG-CSK-1
0/000.980.9108 (u. 1)

RJ-MR MULTI-FUNCTION RUBBER BUSHING (2018-2019) : EE65025GG-CLJ-1
0/000.480.9118 (u. 2)

RJ-SCREW ISO 7380 TORX T-20 M4x20 INOX
0/000.460.0079 (u. 2)

RJ-SCREW ISO 7380 TORX T-20 M4x20 INOX
0/000.460.0079 (u. 2)

ALLEN BOLT 6X14 : T0304016
0/000.460.9143 (u. 2)

SCREW +WASHER 6x7 : T0806007
0/000.460.9161 (u. 1)

RJ-MR MULTI-FUNCTION HOSE TT : BE250634050
0/001.010.9100 (u. 1)

(ENDURO) KYB BARS DECAL KIT (2018-2019)
BE95285GG-CLJ-1 (u. 1)

RJ-MR (FRONT) FORK REFLECTOR DECAL : BE93915GG-CRB-1
0/000.630.9102 (u. 2)

Central Powersports Distribution - Last modification: 26/04/2022

CENTRAL POWERSPORTS



